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] Find the resulting current through R1 in the followmg circuit:
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2oL with a kinetic energy of 750 eV s fired into a region of
+omiacgnetic field which is restricted to the square region shown
-:o o Fac ragnetic field points into the page, and the electron is
ey raveling directly to the right as depicted in the diagram. A
coitermeeleetrie field is applied such that the magnetic force on the

(- tron s counteracted by the electric force. The electron continues
‘.11 traight line even in the region of uniform magnetic field.

“ptoow the required direction of the electric field on the
ARICEEY below
pzz /uilis the magnitude of the electric field required?
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